CERNET Updates



CERNET 3" 211 Project

e Support for 100G DWDM (transport layer)
e Support for 100G Routing (IP layer)



CERNET 100G-enabled DWDM
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DWDM Topology
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Huawei Optix OSN 8800 (11,438 km)
ZTE  ZXONE 8300 (10,370 km) Total 21,724 km



DWDM Stations




CERNET 100G-enabled IP Backbone
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IP Topology
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|IP Routers

Juniper T4000



IP Routers (cont.)

Cisco CRS-3
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IP Traffic over 100G link

b j=®a=-100g=-sun
1.5e+10

?.SHOB_W
0

192

96
4.236 '8.866

ua=b_j=100g=-sun
1.5e+10

?.59+05,W
0

192

95
2.886  4.216

cd=sa=-100g-sun
Je+09

1.5e+09]
0 .
g5 192
144,394 111, 68H

gz-wh-100g-sun
2e+l0

1e+10.|
0

[ 192
15,806 9,576

wh=b_j=100g-sun
de+10

2e+1o_w
0

95 15
30,746 18,506

n j-wh=100g=-sun
1.5e+10

7.5e+09] N
o]

95 182
11,406 10,376

gh=gz=-100g-sun
1.5e+10

?.5e+05_w
0
6

sy=b_j=100g-sun
Je+1

LEHN_W
0

95 182
21,076 10,086

b j=wh=100g=-sun
de+10

2e+10_w
0

96 192
18.506 30,736

sa=cd=-100g-sun
Je+09

1.5e+09| l
0 ——

96 142
113,991 143, 93H

cd=wh=100g=-sun
le+10

5e+09_f¥ w
0

96 192
7.526 2,516

gz-sh-100g-sun
1.5e+10

7.5e408
[ 192

wh=cd-100g-sun
1e+10

53+09_i& m
0

132
2.536

96
7.526

n j-sh=-100g=-sun
le+10

59+09_W
0

132

96
7.756  6.486

gh=n_j=100g-sun
1.5e+10

?.59+09_W
0
96 1492
0,00 0,00
_j-pku
15
7.5
0
S 9 142
0

b j=sh=100g=-sun
3e+l0

LSEHO_W
0

96 1h2
15. 666

9.376

wh=gz-100g-sun
2e+10

1e+10.|
0

132

d8
9.616 15,806

gh=b j=100g-sun
Je+l0

1.59+10_W
0

9 152
12,916 10,056

plu=-b j-100g-gun
le+10

e\ AL
0

192

d6
6.946 2,106

b j=sy=-100g=-sun
3e+l0

1.5e+10_w
0

wh=-n j=-100g-sun
1.5e+10

7.5e+09] N
i

96 1he
10,396 11,406

J=bupt.
15

96 1h2
10,146 20,986

b j=pku=100g=-sun
1le+10

o

132

96
2.126  6.936

bupt=b j=100g-sun
Be+03

4e+09_w
0

192

d6
4,766 2,226

Be+03

b j=bupt=100g=-sun
Ll

4B+OS_W
o

2.246

96
4. 766

192



IP Traffic over 100G link (cont.

bj—wh-100g—=sum. m. log in. act= 1G. 3G

=

2053  (AG8/704) [max= 28, 7T256C med= 11.1421G min= 0 ] lave= 10. 41 dev= 4. BA098C =k 222035
bj—wh-100g—sum. m. log out act= 2%. 4HSEG (G68/T04) [maz= 41.8158C med= 1046G min= 0 ] {ave= 18, 3493C dev= 9, 29759C =kw= -0, 346478

data
b_j=wh=100g=sun.n,log
He+10
— 100G link between
Beijing and Wuhan
0
100500 101000 101500 102000 102500 103000
bj—sy-100g—sum. m. log in. act= 11.1613G (683/704}) [maxz= 12.3948G med= 7.9944%G min= 0 _ ave= 6, 60764G dev= 3, 86B11G =kw= -0, 329265
bj—sy-100g—sum. m. log out act= 23. 6465G (662/704) [mex= 23, 2102G med= 16.3411G¢ min= 0 ] f{ave= 13,8733C dev= 7.79273C skw= -0, 420707
data
b_j=-sy=-10)g=-sun.n.log
Je+10
1,5.=,-+:m ‘A ‘ ‘~“ ‘l “. “. A 100G link between
A ‘ Beijing and Shenyang
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Next Step

100G for IDC
400G trial

OTN
SDN

100G CERNET ‘ 100G CERNET2 ‘
IPv4 IPv6

> Future Internet Testbed




